
 

Adaptations KS2 Answers 
 
Activity Sheet 2 

• Deer – wood or field 
• Otter – pond or river 
• Mole – underground 

 
Activity Sheet 3 
 
Left to right: carnivore (wolf), herbivore (roe deer), omnivore (badger) 
 
Humans have teeth for being omnivores. Like a badger, we have a mix of teeth, 
namely incisors for nipping, canines for holding and molars for grinding. Some 
people choose to eat only plants like a herbivore, but unlike a horse or a deer, they 
still have the ability to eat meat. 
 
Activity Sheet 4 
 
Top to Bottom: 
 

Animals  Footprints 
  Otter   Badger 
  Fox   Deer 
  Badger  Vole 
  Deer   Fox 
  Vole   Otter 
 
How can you tell? 
 

• Otter: Webbed footprint. Lives in water. Webbing between toes to help with 
swimming 

• Badger: Broad footprint with claws. Lives underground. Feet used like spades 
for digging 

• Deer: Hooves. Lives in fields and woods. Hooves give firm footing when 
running from dangers 

• Fox: Narrow footprint with claws. Lives in many places, such as fields, woods 
and cities. Feet like this are very versatile and adaptable, allowing the fox to 
run, walk, jump and dig with ease. 

• Vole: Footprint with long toes. Lives in fields and hedges. Long toes help 
when climbing around. 

 
Note: alternatively, the vole footprint could be from a bank vole 


